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7" ADVANCED UNIT 17 REVIEW

SHOW WORK ON ALL PROBLEMS

Add or subtract as indicated.

1.@2x+5)+(x=2)= D% £ D

2
2. (32— Bx + 6) + (X2 — 2x — 4) = A -k + 2

Ix 4S5 ~X%x t&
3. (2x+5)—(x—2)=_X Y17

, A L
4. (22 + Tx—13)+ 42— 11x+5) = M ~H4x -3
”Z—%t‘-“_?x—\B 4*9[15?"!()(4_ =

A3
5. (3x2—5x+6)—(fx2—+2x—+4)= L\fx -2X +1\D

_Z Hilx -5
6. (-262 + Tx — 13) = (42 = 11x + 5) = (o F13x - 1%

w e »
LN RT PO

7.(6x2=3x + 15) + (4x2 + 6x—10) =_| Ok ¥ AKX +5

_20. 4+ DA He
8.(7c—6d—4e)—(?ic—2d+5e)= 4Q’4d—%
Te-bd-Ye -3 +24-Se

,4,(2__(0,{4.10 3,
9. (6x2—3x + 15) — (4x2 + 6x = 10) = XX - I +05

- IE-17 g
10. (22 +3x = 7) = (X2 + 12) = Ox FAx-19
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For #11 — 14, evaluate if x =2, y=-3. and z = -1.

. 4z<2-;3xy+1(0y / 12. X%y
2)°+ 3(2)X-3) + lo(-3 1
ILO‘L"(,('L)SO ) (2) <3)
) =)
13.y?+4y + 2 14. -3xyz )
(-3) %+ (-3 )+ -3 ()
9 =~ 87 = - ¢
— e

Know the definitions for the following terms:
15. Polynomials: H ar mort Hrms —gne mongmaial or He
sum or differmmce of mgnemials

16. Coefficient: ﬂo nu ot m/; #m/rgﬂ L)m 'H\z (/ama g@

1A A mmom:al

17. Like Terms: MQ’YLQ,/){/).(S w’y\ diflvent Coefbcionts but
He same variobles

18. Monomial:  / ﬁrm /1 nqmézr ar lﬂmﬂ(cf ()74 /‘?umlxn—s
and vanalles with expments Hat arc whde numbers

19. Binomial: X 7£rm5s

20. Trinomial: ¥, 7;'/';415

21. Constant: __ A yalue Hatl daesn 1 C,/w\g,(

Classify each of the following as monomial, binomial, or trinomial.
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-f€'.

i
,1'}&/2 = Bin 0mig !

23.8b%+20°—b* _ [y nyminl

24. -4x _/nﬂ’wlma, /

25. 17a%b3¢c? onmia /

26. -48 Weonpmial
SIMPLIFY £ +%- 2,2 -Sx+ 4
27. (4x + 5) + (-2x - 9) 28. (5x2 — 4x + 8) - (2x2 + 5x — 4)
AX -4 32X+
(s )x v )(x* ) N
29. (x?y°)* = ) s T 30. -5 (8y + 6) = "L/Ov - 30
fol= J
31. 3y (5y2 +2y — 8) = /5)/ 1%\/ JL& 32. (3x—2)(2x + 3) = (" G -4x-(,
/ — lox = +5x-(5
(2x)(3x)~ A" qu
33. (3x)%(6x*) = SH x 34. (-4x3y?)(-4x3y?) = /(ox

5 g /ﬁ', Zi
35. 4xy (3x2 + 2y3) = Ky y* J }(;/  36. (-2%y)(Tx2y?)(-3y*) = L/RX y

-
37 (gx 4@ i 3y) = OZK IUXVTIZq 38. (y - 3)(y - 5) = \/ - 3y S

~(_‘,><\j 4X\JH'1.U] )’ -3y IS
v\l 2 /ULL’
(39.(x+y)(x—y)= )(Z —i Eto (x = 3)(dx + 7) = L/X Ox =2
XYZXU)M@) AJ% Ly2 +7I¢-12¢ =21
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